We promise to make every effort to produce
better quality fittings and create new
technologies.




ERINAE!

@

SFSL

P.100

STBF

P.101

98 | SEKWANG HI-TECH

SQUARE SOCKET WELD FLANGE SOCKET WELD FLANGE-90C

516 516
£t D ——
{‘;}@f)ﬂ} | @G {

Cia

BSPT TYPE SOCKET WELD TYPE WELD ON TYPE
L
! | ! I ! ‘ T . o |
I i _ Bl K
STWF BSPT TYPE SOCKET WELD TYPE

JE|]__

=HEH &) PN

Ll L
SWBT SWOF SRWF
e | ity
P.105 P.106 P.107

SRSW

@1

P.108

SWRFL

P.112

SFTL

P.116

JONVI4




ERINAE!

SQUARE & ELBOW FLANGE-SOCKET TYPE
SFSL

SQUARE SOCKET WELD FLANGE SOCKET WELD FLANGE-90°

B2
4 -KT 4-MT

\d
&
4

a
@Den RO.4-0.7 i
B e x | B 3 f—':
— [ . |\
| aon |-
| s A ]
i
| 3J | 5 =
: —— o T Bl s
| H:[ L . \\F'.I.':-_I-{I':-'
i S : i 0.2:¢
| LeP : ! i 2 Blism
L eo | ad !
] Ex |

SQUARE SOCKET WELD FLANGE

STBF

BSPT TYPE

-@T

O-RING GROOVE DETAIL

Patho. oot P p g D o 1 B B T QNS
FLANGE  PIPE
SFSL-158 | 15A i 21.7 { 222 i 13 i 26.75 i 30.2 : 18 : 13.5 | 58 - 211
SFSL-208 | 20A : 27.7  27.7 i 19 i 31.52 i 357 : 18 : 13.5 | 58 -214
SFSL-258 i 25A i 34.5 : 345 : 25 : 39.45 : 425 : 25 : 16.0 : 76 : - 219
SFSL-328 | 32A | 427 432 32 : 5062 : 51.2 : 25 :16.0 | 76 : -224
SFSL-40S | 40A | 48.6 : 49.2 i 38 : 56.97 : 61.2 : 31 :22.0 | 102 : - 226
SFSL-50S | 50A | 60.5 | 61.1 i 51 : 66.50 : 73.1 | 31 :22.0 : 102 - 229
SFSL-65S i 65A : 76.3 : 77.1 : 63 ; 82.37 : 89.1 : 38 ; 27.0 | 140 - 234
SFSL-80S | 80A i 89.1 | 90.0 : 73 i 95.07 {102 | 38 : 27.0 : 140 - 238
SOCKET WELD FLANGE-90°

Part No. Ef;:w;é EEE P B D o0 I k E E E T QSN
SFSL-158S | 15A  21.7 | 22.2 13 | 26.75 @ 30.2 . 38  13.5 58 36.6 80 - 211
SFSL-20SS | 20A | 27.7 | 27.7 i 19 3152 357 : 42 | 135 58: 36.6: 80 : - 214
SFSL-258S | 25A | 345 | 345 25 39.45 425 51 : 16.0: 76 50.8: 105 | -219
SFSL-328S | 32A | 427 432 0 32 : 5062 . 51.2: 59 : 16.0 . 76 : 50.8: 105 : - 224
SFSL-40SS . 40A : 486 : 49.2 . 38 . 56.97 . 61.2 : 76 : 22.0 102 69.8 ; 130 : - 226
SFSL-50SS : 50A : 60.5 @ 61.1 : 51 : 66.50 : 73.1 : 76 : 22.0 102 : 69.8 : 130 : - 229
SFSL-65SS @ 65A i 763 : 771 | 63 : 82.37 . 89.1 102 : 27.0 (140 : 95.2: 181 : -234
SFSL-80SS . 80A . 891 | 90.0 73 i 95.07 (102 124 i 27.0 140 & 95.2: 181 | - 238

100 | SEKWANG HI-TECH

o

BSPT TYPE
Part No. IN PIPE
STBF-15T $21.7
STBF-20T ¢ 27.2
STBF-25T ¢ 34.0
STBF-32T ¢ 42.7
STBF-40T ¢ 48.6
SOCKET WELD TYPE
Part No. IN PIPE
STBF-15S $21.7
STBF-20S ¢ 27.2
STBF-25S 4 34.0
STBF-32S $42.7
STBF-40S ¢ 48.6
WELD ON TYPE
Part No. IN PIPE
STBF-15W $21.7
STBF-20W $27.2
STBF-25W ¢ 34.0
STBF-32W $42.7
STBF-40W $ 48.6

TWO BOLT FLANGE

SOCKET WELD TYPE
[aP+8,4)
4-aT ap | 48T
E 0 .j
B B D
1/2 14.3 31.52
3/4 19.4 37.87
1 25 37.87
11/4 32.9 50.62
11/2 38.4 50.62
P B D
22.2 14.3 31.52
27.7 19.4 37.87
34.5 25 37.87
43.2 32.9 50.62
49.1 38.4 50.62
P B D
1/2 14.3 | 31.52
3/4 19.4 | 37.87
1 25 | 37.87
11/4 32.9 : 50.62
11/2 38.4 | 50.62

19
23
28.5 :
32
36

38
38
38
42
45

26
28
32
36
42

WELD ON TYPE

14
16

17.5

19
22

18
18
18
22
25

46
50
50
70
70

46
50
50
70
70

46
50
50
70
70

67

71.5
71.5

95
95

67
71.5
71.5
95
95

67

95
95

7.5
71.5 ¢

O-RING GROOVE DETAIL

L1

47.6
52.4
52.4
69.9
69.9

L1

47.6
52.4
52.4
69.9
69.9

L1

47.6
52.4
52.4
69.9
69.9

-
L
=
P
@
m




SOCKET WELD FLANGE
SSWF

THREAD FLANGE, SOCKET WELD FLANGE
STWF

ERINAE!

BSPT TYPE SOCKET WELD TYPE
[FTIP [H]"'"'E.-'I:l
P
L
P, . T /\%.
i » !
| mam EN
s = | £
iy F T
| 'F!H-| RO.4-0.7 e
ey E‘l
. s e
= I AhA [
(=] F]
Li 2
\.Jtc}.i—lil.ﬂ
i
4-MT _0.29'
| 5 ‘ﬂ_-
2 T Rdzaes
|
HiA-0.7 5 4-aT O-RING GROOVE DETAIL
2l W o
" —
= 2
XM : O
e m
=]
i BSPT TYPE
s O-RING
" .E."":'-l 0.2 Part No. IN PIPE P B D | E E1 L L1 T AS568
D .
ﬂ_' STWF-15T $21.7 12 14 26.75: 26 46 17.5 54 38.1 - 211
2. Bdeors STWE-20T $27.2 3/4 19 31.52 . 28 52 22.2 65 47.6 - 214
STWF-25T $340 1 25 39.45 0 32 60 26.2 70 52.4 - 219
O-RING GROOVE DETAIL STWF-32T $42.7 114 32 50.60 | 36 73 30.2 79 58.7 - 222
STWF-40T $48.6 112 38 56.97 | 42 82 35.7 94 69.9 - 226
STWF-50T 4605 2 51 66.50 : 42 94 42.9 102 77.8 - 229
STWF-65T $76.3 121/2 63 82.37 | 48 | 106 50.8 : 114 : 88.9 - 234
STWF-80T 4891 3 73 95.07 : 48 130 61.9 135  106.4 - 238
ORING SOCKET WELD TYPE
Part No. IN PIPE P B D I I1 E = L L1 T AS568 -
| L Part No. IN PIPE P B D | h E Ei L L T Py
SSWF-158 $21.7 22.2 16 | 28.35; 10 ;| 3 46 . 17.5 . 54 | 38.1 M8 /49 - 212
SSWF-20S $27.2 27.7 215 : 3152 12 4 52 0 222 65 : 47.6 | - 214 STWF-15T $21.7 22.2 14 26.75 (16 | 3 | 46 | 17.5 | 54 381 M8 49 @ - 211
SSWF-25S 434.0 34.5 28 | 3945 12 4 60 i 26.2: 70 @ 524 m10 -219 STWF-20T ¢ 27.2 27.7 19 3152 19 : 4 52 : 222 65 476 M0 Po- 214
SSWEF-32S $42.7 43.2 36 | 50.62: 12 @ 4 73 0 302 79 i 587 ¢ 11 - 224 STWF-25T ¢ 34.0 34.5 25 39.45 i 23 : 4 60 : 26.2 i 70 52.4 11 . 219
SSWF-40S ¢ 48.6 49.1 42 | 56.97: 15 4 82 0 357 94 699 i, i -226 STWF-32T ¢ 42.7 432 = 32 50.62 12 : 4 i 73 i 302 : 79 : 587 - 222
SSWF-508 4 60.5 61.0 53  66.50: 15 4 . 94 @ 429 102 : 77.8 - 229 STWF-40T ¢ 48.6 49.1 38 56.97 15 . 4 . 82 : 357 @ 94 69.9  M12 - 226
SSWF-65S $76.3 77.0 | 68 | 8237: 15 4 106 i 50.8 0 114 | 889 91350 234 STWF-50T $60.5 61.0 = 51 66.50 : 15 | 4 i 94 : 42,9 (102 | 778 - 229
SSWF-80S 4 89.1 90.0 80 : 9507 20: 5 130 : 61.9 135 : 106.4 . - 238 STWF-65T $76.3 77.0 63 82.37 115 . 4 : 106 : 50.8 : 114 88.9 $135 _ 234
SSWF-90S $101.6 1024 | 93 10777 20 . 5 136 = 69.9 . 152 . 120.7 ; M16 - 242 STWF-80T ¢ 89.1 90.0 : 73 95.07 (20 : 5 130 : 61.9 : 135 . 106.4 .o - 238
SSWF-100S $114.3 1151 1106 :123.65: 25 6 : 146 : 77.8 : 162 : 130.2 G175 247 STWF-90T $101.6 102.4 89 : 107.77 20 : 5 : 136 : 69.9 @ 152 : 120.7 . 242
SSWF-125S $ 139 140.6 (130 :145.87: 25 6 : 170 : 921 @ 190 @ 152.4 ' - 254 STWF-100T ¢114.3 130.2 99 12365 :25 : 6 : 146 : 77.8 : 162 : 130.2 oL 247
102 | SEKWANG HI-TECH 103



ERINAE!

THREAD BOSS TYPE FLANGE-BEST SOCKET WELD BOSS TYPE FLANGE
STBT SWBT

e Is

PN L. | \vr - .
.___ 3 ] E| ¢ ___._., 3 4 ¥
. [0

7 sar B #J MHTJr | &
R - y ;I

-

)5}
ap

NFT

o e
A hen

4, TEES

| i RO0.4-0.7
4-MT /) fE '
4-MT 2L

E|| 4 T45"

A iy

\‘-RI!'IJ—EI_.'I
RO 1=k 0,33

’ 0.2 B

2,83 xres

2 AZenm

-
L
=
P
@
m

O-RING GROOVE DETAIL O-RING GROOVE DETAIL

3000PSI 3000PSI

Part No. INPPE P B D O I It 2 E E L L | G Part No. NPPE P B D O | & kL E & L L 71 QRN

217 222 013 0 267532 0 36 16 (19 | 46 | 17.5] 54 | 381 M8 ;g [ .211
272 1 277 19 | 3152 38 : 38 : 18 (19 | 52 : 222 65 : 47.6. U C-214
340 | 345 : 25 : 3945 44 0 38 18 19 i 60 : 262 70 : 52.4§"’“°/ P .219
427 | 432 32 . 5062 52 . 42 ;22 22 0 73 : 302, 79 587, - 411 : .222
48.6 © 491 | 38 | 56.97 : 58 : 45 25 i 24 : 82 : 357 94 : 69.9: [ -226
60.5 | 61.0 : 51 | 66.50 : 72 : 50 : 25 : 30 : 94 : 42.9:102 : 77.8§My P -229
76.3 i 77.0 | 63 | 82.37 . 88 : 50 : 25 : 30 : 106 : 50.8 i 114 : 88.9: 4135 | -234
STBT-80T . ¢89.1 . 373 : 9507 i 101 i 53 . 28 34 : 130 61.9 135 1064 & _ . -238 SWBT-80S . ¢ 89.1 . 90.0 ; 73 . 95.07 101 53 ; 28 . 34 . 130 : 61.9 135 .106.4 P .238
STBT-90T : #101.6 :31/2: 89 :107.77 : 114 : 53 : 28 : 34 : 136 69.9 : 152 :120.7 . P .242 SWBT-90S . ¢101.6 :102.4 : 89 : 107.77 i 114 53 : 28 : 34 | 136 | 69.9 : 152 ;120.7§W f.242
STBT-100T . $114.3 . 4 99 123.65 126 53 28 34 146 77.8 162 130.2. /9175 247 SWBT-100S | #1143 1151 : 99 :123.65 126 53 : 28 : 34 | 146 . 77.8 : 162 :130.2 s

STBT-15T | ¢21.7 | 1213 | 2675 : 32:36: 16: 19 | 46 . 17.5: 54 | 38.1: W Po2n SWBT-15S
STBT-20T | #27.2 : 3/4 19 | 3152 : 38:38: 18: 19 | 52 | 222: 65 @ 47.6: ~ %9 © .214 SWBT-20S
STBT-25T | 4340 | 125 3945 44 :38: 18 19 | 60 : 26.2: 70 : 52.4 gm0~ . -219 SWBT-25S
STBT-32T . ¢42.7 :13/4 32 : 5062 : 52 :42: 22 22 : 73 | 302 79 | 58.7 % P-222 SWBT-32S
STBT-40T : ¢48.6 :11/2: 38 : 56.97 | 58 : 45 : 25: 24 : 82 : 357 : 94 : 69.9: i .226 SWBT-40S
STBT-50T : 4605 : 2 :51 : 66.50 : 72 :50: 25: 30 : 94 : 42.9: 102 : 77.8 : Ny io.229 SWBT-50S
STBT-65T . ¢76.3 :21/2 63 . 8237 88 50 25 30 . 106 50.8 114 . 88.9 4135 -234 SWBT-65S

€. 6. 6. 6. 6. 6. 6. 6.

6000PSI 6000PSI
Part No. IN PIPE P B D (0] | I1 I2 E E1 L L1 T AS568 Part No. IN PIPE P B D 0 | |1 I2 E E L

STBT-10TT  ¢17.3 © 3/8: 11 | 26.75 | 28 (36 : 16 ' 19 ' 46 :18.2 | 54 (405 i M8 ;5 | .211 SWBT-10SS : ¢17.3 i 178 i 11 | 2675 | 28 : 36 : 16 : 19 | 46 i 18.2 | 54
STBT-20TT : $27.2 : 3/4: 19 : 3152 . 38 :42 . 22 22 : 55 .23.8 @ 71 :50.8 MO 7" .214 SWBT-208S @ $27.2 . 27.7: 19 : 3152 : 38 : 42 22 22 . 55 23.8 : 71 .
STBT-25TT . ¢34.0 | 1. 25 3945 . 44 (45 . 25 24 : 65 §27.8 81 | 57.2 M12¢135 -219 SWBT-25SS | ¢34.0 | 345 25 3945 : 44 : 45 25 24 . 65 27.8 : 81 .
STBT-32TT @ ¢42.7 :13/4: 32 : 50.62 : 55 (48 : 28 i 25 : 78 :31.8 | 94 : SWBT-32SS | ¢ 427 | 43.2: 32 : 50.62 : 55 : 48 : 28 : 25 : 78 i 31.8 : 94 :
STBT-40TT | ¢#48.6 :11/2: 38 | 56.97 : 60 :50 : 30 : 28 : 94 :36.5 ; 112 : 5 SWBT-40SS @ ¢ 48.6 i 49.1 @ 38 : 56.97 : 60 : 50 : 30: 28 : 94 : 36.5 112 :
STBT-50TT . $60.5 . 2 51 ; 66.50 . 72 ;63 . 38 30 114 :44.5 134  96.8 M0 j,, = -229 SWBT-50SS . ¢ 60.5 : 61.0 0 51 : 66.50 : 72 : 63 : 38 : 30 : 114 : 445 134 :

104 | SEKWANG HI-TECH 105



ERINAE!

WELD ON FLANGE RECTANGLE WELD ON FLANGE
SWOF SRWF

1

4
_ |
|

e
ap

@lh=pa
|
|
'
|
|
|

|
|
'.
|

@l
5]

Nl |
[ @ . i o RO407 T 5 st 3 RO.4-0.7
—— g | @ e
' = | ) '
}\ ] : —l‘J b
NROL1-02 4-MT |_Ei N RD.1-0.2

ﬂ"‘ = 039 I [ i) &g
2 Blsom a_...__.i
— B2 o

O-RING GROOVE DETAIL O-RING GROOVE DETAIL

‘xh
B0
LN

L RPET

5

L

G
§

=

3000PSI

3000PSI
NORMAL  SIZE O-RING

IZE ' Part No. P B D Lo E B L L T
Part No. e P B E1 L L T ORING FLANGE  PIPE 1 ! AS568

, FLANGE — , , | — A | | ,ASSGS SRWF-02 | 15A { 217 i 222 i 13 | 2675 i 36 : 16 : 34 : 17.5 | 54 i 38.1 iM8 JEE
SWOF-02 = 15A = 21.7 = 222 13 2675 36 ; 16 . 46 17.5 @ 54 -211 SRWF-03 . 15A . 17.3 . 17.8 . 10 = 26.75 36 . 16 . 34 . 17.5 . 54 . 38.1 A :
SWOF-03 . 15A . 17.3 . 17.8 . 10 . 2675 36 . 16 . 46 . 17.5 . 54 -211 SRWF-04 : 20A @ 272 : 27.7 | 19 : 3152 : 38 : 18 | 41 | 222 : 65 : 47.6 : o214
SWOF-04 © 20A 2720 27.7: 19 31.52: 38 : 18 : 52 : 222 : 65 -214 SRWF-05 : 20A @ 217 | 222 i 13 : 3152 : 38 : 18 : 41 : 222 | 65 : 47.6 : Co.214
SWOF-05 = 20A . 217 : 222 13 . 3152 38 = 18 = 52 . 222 . 65 : L o-214 SRWF-06 | 25A : 34.0 @ 345 : 25 : 39.45 : 38 . 18 | 48 | 262 | 70 : 52.4 : L -219
SWOF-06 = 25A © 34.0 = 345 25 3945 33 : 18 60 262 70 . 524 P o-219 SRWF-07 | 25A . 27.2 | 27.7 . 19  39.45 : 38 . 18 . 48 @ 262 . 70 @ 524 ©o.219
SWOF-07 | 25A 272 0 27.7 19 . 39.45: 38 : 18 © 60 . 262 . 70 : 524 - w219 SRWF-08 = 25A 217 | 222 | 13 | 3045 38 0 18 . 48 @ 262 @ 70 | 524 219
SWOF-08 = 25A . 21.7 : 222 13 3945 38 : 18 60 . 262 70 0 524 w0 - . -219 SRWF-00 | 32A . 427 | 432 32 . 5062 42 22 54 0 302 : 79 . 58.7 . .222
SWOF-09 | 32A | 427 | 432 32 5062 42 . 22 73 302 79 @ 587 941 = 222 SRWF-10 32A 340 | 345 . 25 5062 42 22 54 = 302 79 | 587 %""7 L. 222
SWOF-10 i 32A | 340 345! 25 5062 42 0 22 73 302 : 79 | 58.7 o222 SRWF-11 . 32A : 272 277 19 : 5062 : 42 : 22 . 54 : 302 : 79 . 58.7 . /4135 .222
SWOF-11  :  32A 2720 27.7: 19 @ 50.62 5 42 : 22 73 302 79 ° ; - -222 SRWF-12 | 40A | 486 : 491 : 38 . 56.97 : 45 25 . 64 ; 357 : 94 . 69.9 M6~ | -226
SWOF-12 . 40A : 486 : 491 38 5697 : 45 25 82 357 94 -226 SRWF-13 . 40A | 427 432 | 32 : 56.97 : 45 25 . 64 : 357 . 94 : 69.9 . /9175 _226
SWOF-13 |  40A @ 427 ' 432 32 @ 5697 : 45 : 25: 82 @ 357 : 94 -226
SWOF-14 © 50A | 605 : 61.0: 51 : 66.50 : 50 : 25 : 94 : 42.9 : 104 -229 6000PSI
SWOF-15 | 65A : 763 : 77.0 63 : 8237 : 50 : 25 : 106 : 50.8 @ 114 -234
SWOF-16 : 80A . 89.1 : 90.0: 73 . 9507 : 53 . 28 : 130 | 61.9 . 135 -238 Part No. MORYAT) Sl p B D el 2] B | L Ly T ORNG
SWOF-17 : 90A  :101.6 : 102.4 : 89 : 107.77 : 53 : 28 : 136 : 69.9 : 152 -242 FLANGE  PIPE ——
SWOF-18  © 100A  :114.3 i 1151 : 99 : 123.65 . 53 | 28 | 146 .| 77.8 . 162 -247 SRWF-20 | 15A | 217 | 222 | 13 { 2675 i 38 : 18 | 34 i 18.2 | 54 i 40.5 : Mg L2

- - ~ ‘ ' ' ' ' ‘ ' SRWF-30 i 15A | 173 : 17.8 : 10 | 2675 : 38 : 18 @ 34 | 18.2 : 54 : 40.5 99 1 211

6000PSI SRWF-40 @ 20A | 272 | 27.7 | 19 | 3152 | 42 | 22 | 48 | 238 | 71 | 50.8 ipgqg . -214

NORMAL  SIZE SRWF-50 | 20A : 217 : 222 : 13 : 3152 . 42 | 22 | 48 : 238 : 71 : 50.8 $11: . 214

Part No. [® B D | I1 E E1 L L1 - 45 8 I
FLANGE  PIPE SRWF-60 | 25A | 340 : 345 @ 25 : 39.45 : 45 : 25 : 54 : 27.8 @ 81 : 57.2 ! P -219

! ! ; ; ! ; ! ; _ SRWF-70 | 25A | 27.2 i 27.7 : 19 3945 : 45 @ 25 : 54 . 27.8 = 81 : 57.2 Ny D219
SWOF-100 | 10A | 173 | 17.8 | 11 {2675 | 38 i 18 | 46 | 18.2 | 54 | 40.5 ‘ ‘ ‘ : : : ‘ ‘ ; . 4135

: : : : : : L, : o SRWF-80 . 25A | 217 | 222 | 13 | 3945 (45 25 54 | 27.8 @ 81 . 572 . ~ © 7
SWOF-200 . 20A - 27.2 . 27.7 = 19 3152 . 42 : 22 . 55 . 238 . 71 6 5038 SRWF-90 | 32A | 427 | 432 : 32 : 5062 . 48 . 28 . 60 : 31.8 . 94 : 66.7 ©-222
SWOF-250 @ 25A | 340 : 345 | 25 3945 : 45 : 25 65 . 27.8 | 81 : 57.2

: : : : : : P25 ¢ : L 81 SRWF-100 : 32A . 34.0 : 345 : 25 : 50.62 ; 48 ;. 28 . 60 : 31.8 . 94 : 66.7 §M1“/§ - 222
SWOF-320 @ 32A : 427 : 43.2 { 32 :50.62 : 48 : 28 : 78 : 31.8 :@ 94 : 66.7 SRWF-110 : 32A  27.2 . 27.7 : 19  50.62 : 48 : 28 = 60 : 31.8 . 94 . 66.7 . -~ 9155  _222
SWOF-400 | 40A | 486 : 491 @ 38 : 56.97 : 50 : 30 : 94 @ 36.5 112 : 79.4

SWOF-500  50A : 605 : 61.0 : 51 : 66.50 : 63 @ 38 114 | 44.5 134 | 96.8

o
m

-
L
=
P
@
m

SRWF-120 | 40A | 486 : 491 | 38 | 56.97 . 50 : 30 : 70 | 36.5 | 112 79.4 imqe -~ . -226
SRWF-130 @ 40A 427 | 432 : 32  56.97 : 50 : 30 : 70 : 36.5 @ 112 79.4 . ~¢17.5: .22

106 | SEKWANG HI-TECH 107



ERINAE!

RECTANGLE SOCKET WELD FLANGE

SRSW

4-MT

3000PSI
Part No.

SRSW-02
SRSW-03
SRSW-04
SRSW-05
SRSW-06
SRSW-07
SRSW-08
SRSFW-09
SRSFW-10
SRSFW-11
SRSFW-12
SRSFW-13
SRSFW-14
SRSFW-15

4-&T
|
PN

o f— . |

L]

2 i
Ei
E
NOMINAL SIZE P
FLANGE PIPE

154§ 217 | 222
15A | 17.3 17.8
20A ©  27.2 i 27.7
20A 217 | 22.2
25A 34.0 | 345
25A 27.2 277
25A 21.7 © 22.2
32A 42.7 | 43.2
32A 34.0 | 345
32A 27.2 i 27.7
40A 48.6 : 49.1
40A 42.7 : 43.2
50A 60.5 i 61.0
50A 48.6 | 49.1

13
10
19
13
25
19
13
32
25
19
38
32
51
38

ap

26.75
26.75
31.52
31.52
39.45
39.45
39.45
50.62
50.62
50.62
56.97
56.97
66.50
66.50

— O
] ]
I.

Il I E
16 6 34
16 : 6 : 34 !
16 6 0 41 !
16 i 6 @ 41 !
16 i 6 | 48 !
16 | 6 : 48 !
16 : 6 @ 48 !
16 | 6 54 :
16 i 6 | 54 !
16 | 6 : 54 :
16 | 6 @ 64 :
16 | 6 : 64 :
16 6 @ 76 :
16 : 6 : 76 :

B0

E1 L
17.5

17.5

22.2

22.2

26.2

26.2

26.2

30.2

30.2

30.2

35.7

35.7 :
42.9 102
42.9

RO.4-0.7

4. TEHH

B0

-

\"H'I:I.i—lil.i

0,277
e i=®

282 xuas

O-RING GROOVE DETAIL

54
54 :
65 :
65 :
70 :
70 :
70 |
79 :
79
79 |
94
94 :

£ 102

L1

38.1
38.1
47.6
47.6
52.4
52.4
52.4
58.7
58.7
58.7
69.9
69.9
77.8
77.8

M10

O-RING
AS568

-211
-21
-214
-214
-219
-219
-219
-222
-222
-222
-226
-226
-229
-229

ELBOW FLANGE SOCKET WELD

SWFL

108 | SEKWANG HI-TECH

It
4-ar
(e
N
4-MT | S
ll_, ' RO.4-0.T 3]
3 L. i [ | 4 &
S - L3 Jr !#.
| | iy ;[
1 +
[
&
\‘*HI'.I.]—{I-.E.
[
2.BE=0n
O-RING GROOVE DETAIL
3000PSI
O-RING
Part No. INPIPE P B D o | lh 2 E E1  E2 L L1 T AS568
SWFL-15T | ¢21.7 172 : 13 | 2675 | 3220 20 (19 ; 46 : 17.5 37 i 54 | 38.1; M8 y9 | .21
SWFL-20T | ¢27.2 34 . 19 : 3152 . 382424 19 52 222 38 65 476 = . -214
SWFL-25T | ¢34.0 . 1 . 25 39.45 44 28 28 (19 60 : 262 44 70 | 524 gy @ -219
SWFL-32T  : ¢42.7  13/4 : 32 : 5062 : 523434 :22:73:302 52 79 |587: P -222
SWFL-40T  : ¢48.6 . 11/2 ; 38 : 56.97 | 58 : 38: 38 {24 0 82 357 58 94 gsgggw [ - 226
SWFL-50T  © ¢60.5 @ 2 : 51 : 66.50 : 72 : 42 42 :30: 94 : 429 72 102 : 77.8; ~ ¢135: _229
6000PSI
O-RING
Part No. IN PIPE P B D O I h 2 E E E L L1 T As568
SWFL-15TT $21.7 12 ;13 | 2675 32 : 20} 20 ; 19 46 | 18.2 | 37 . 54 . 40.5 M -211
SWFL-20TT $27.2 3/4 0 19 © 3152 . 38 0 28 28 : 22 55 238 : 43 . 71 @ 50.8 M9y .214
SWFL-25TT $34.0 1 ;25 3945 44 : 34 34 24 65 27.8 . 44 . 81 ; 57.2 M2, . 219
SWFL-32TT 4427 | 13/4 32 0 5062 55 38 38 25 78 31.8 @ 55 @ 94 & 66.7 M4 222
SWFL-40TT $48.6 11/2 : 38 : 56.97 60 : 42 42 0 28 94 : 36.5 = 60 . 112 79.4 W6 75 . 226

109

-
L
=
P
@
m




SOCKET WELD FLANGE 90° WELD ON FLANGE 90°
SWFL SWOFL

I1

o] BESTE]

E
o

4-MT

ar £ ¥

B 0 §

+H =

- | P ROA-LT T S 9,  R04-07
ap ||'

NI = I

\"'l':l.ll—i?.'d N 1.~‘~‘.-1'.I':-_1—-:'|_‘:!

R L

ﬁ‘; g

O-RING GROOVE DETAIL

L=

e

&
B

.
|
1

P

E ‘[ 474

-
L
=
P
@
m

ERINAE!

P P EST

O-RING GROOVE DETAIL

3000PSI 3000PSI

PatNo. ~ INPPE P B D O | h I E E E L L T GRNG Part No, NPPE P B D I kW E E E L L ol

SWFL-20S | ¢27.2 | 27.7 : 19 | 31.52 | 38 . 24 : 24 : 19 52 | 222 : 38 . 65 476  ¢9 i .214 SWOFL-20W . ¢27.2 277 19 3152 24 . 24 = 52 ' 222 . 38 . 65 476 - 214
SWFL-255 4340 = 345 25 3945 44 28 28 0 19 60 . 262 44 | 70 524 mwo - -219 SWOFL-25W | 4340 345 25 & 3945 28 28 . 60 262 44 70 524 MO0 .21
SWFL-32S | ¢42.7 . 432 : 32 | 50.62 | 52 i 34 i34 22 73 302 : 52 : 79 . 58.7: 411 .222 SWOFL-32W | ¢42.7 432 : 32 | 5062 34 @ 34 = 73 302 52 i 79 ! 587 Po-222

SWFL-15 | ¢21.7 | 222 113 | 26.75 (32} 20 20 i 19 46 | 17.5 | 37 | 54 38.1§y 211 SWOFL-15W | ¢21.7 222 13 | 2675 20 . 20 46 175 . 37 | 54 = 381 M40 .21

SWFL-40S | ¢48.6 . 491 : 38 : 56.97 | 58 . 38 : 38 : 24 82 . 357 . 58 . 94 . 69.9.yj2 . . -226 SWOFL-40W | 4486 491 . 38 : 5697 38 @ 38 . 82 | 357 : 58 . 94 & 69.9 Ny . 226
SWFL-50S | ¢60.5 . 61.0 . 51 . 66.50 | 72 . 42 . 42 . 30 . 94 = 429 . 72 102 @ 77.8 %5 -229 SWOFL-50W | ¢60.5 61.0 . 51 ' 66.50 . 42 @ 42 . 94 429 i 72 102 | 77.8 - #1351 .29

6000PSI 6000PSI

O-RING O-RING
S Part No. IN PIPE P B D | l1 E Ei E2 L L1 T Acse8

SWFL-158S | ¢21.7 | 222 113 | 26.75 | 32 20 20 {19 46 | 182} 37 | 54 | 40.5 M8 _—5¢ _oqq SWOFL-15WW : 4217 : 222 : 13 : 2675 . 20 :© 20 : 46 : 18.2 . 37 . 54
SWFL-20SS & ¢27.2 | 27.7 : 19 | 31.52 38 28 28 19 55  23.8 43 71 @ 50.8 M10_,o.i -214 SWOFL-20WW = ¢27.2 : 27.7 : 19 : 31.52 24 . 28 . 55 238 43 @ T1
SWFL-25SS . ¢34.0 = 345 | 25 | 3945 : 44 34 34 0 19 65 278 0 51 81 572 M2 o .29 SWOFL-25WW | ¢34.0 @ 345 25 3945 28 . 34 . 65  27.8 . 51 . 81

Part No. IN PIPE B B D o | I1 2 E E1 E2 L L1

-

211
-214

135 ; : il
SWFL-32SS | ¢42.7 | 43.2 32 | 5062 55 38 38 22 78 318 56 . 94 = 66.7 M4 5. 222 SWOFL-32WW | ¢42.7 = 432 32  50.62 34 . 38 . 78 318 56 94 A -222
SWFL-40SS | $48.6 : 49.1 | 38 : 56.97 . 60 42 42 : 24 | 94 ; 36.5: 65 : 112 | 79.4 M6 7' 226 SWOFL-40WW @ ¢48.6 = 49.1 | 38 & 56.97 | 38 @ 42 = 94 ' 365 65 [ 112 i 79.4 M6 .0 .226

110 | SEKWANG HI-TECH 111



ERINAE!

WELD ON RECTANGLE FLANGE 90° SPLIT FLANGE
SWRFL SSF

[=

[

B

]

1
S
a2

ROA-0T

4.784"

L

@l

\H-D.]-EI.E
.25

g'- 7= 3000PSI

e
282 Part No. IN PIPE P B I I l2 E E1 L L1 T

-
L
=
P
@
m

O-RING GROOVE DETAIL SSF-15 foM5A ¢ 310 ¢ 243 1 19 ¢ 13 ¢ 62 | 46 | 175 | 54 1 384 M8 g

SSF-20 . 20A : 389 : 321 . 22 . 14 . 62 | 52 : 222 : 65 . 476 :
SSF-25 { 25A | 452 | 385 | 24 : 16 : 75 | 60 @ 262 | 70 : 524
Part No. NORMAL  SIZE P B D | I E E E L L1 T (,%\-SRSI'(\SISG SSF-32 32A 51.6 43.7 22 14 7.5 73 30.2 79 58.7 L
FLANGE  PIPE SSF-40 i 40A | 611 | 508 @ 25 ! 16 7.5 82 357 94 : 699 |

SWRFL-15W ©  15A | 21.7 | 222013 | 2675 1 20 ' 20 ' 34 @ 17.5 ' 37 | 54 (381 M8 o' 211 SSF-50 . B0A 722 © 627 | 26 : 16 . 9.0 | 94 429 102 : 778 : “gyp

SWRFL-20W | 20A © 27.2 | 27.7 i 19 : 31.52 : 24 : 24 : 42 222 : 41 | 65 476 - 214 SSF-65 . 65A . 849 : 749 . 38 . 19 . 9.0 . 106 . 50.8 @ 114 . 88.9

SWRFL-25W @ 25A © 34.0 @ 34.5: 23 | 3945 : 28 ' 28 : 48 | 26.2 | 44 | 70 §5z.4§""%§ -219 SSF-80 . 80A 1024 : 909 : 41 © 55 . 9.0 130 @ 619 : 135 @ 1064

: : : : : : : : : : : : : S : : : ] : : M16
SWRFL-32W : 32A 427 : 43.2 31  50.62 : 34 : 34 . 56 : 30.2 . 48 : 79 : 58.7 : ©-222 SSF-90 I L I N T 152 120.7 g
SWRFLOW  40A 486 | 491 35 5697 (38 38 G4 35T 52 94 699 w226 SSF-100  : 100A [ 1284 | 153 [ 45 | 24 [ 108  1%2 [ 778 . 162 | 1302

SWRFL-50W | 50A : 60.5 : 61.0 : 48 . 66.50 . 42 : 42 . 72 . 42.9 : 56 102 . 77.8 . 175 | .29

3000PSI

6000PS|
6000PS|

NORMAL ~ SIZE ORING Part No. IN PIPE P B | I I2 E E1 L L1 T

Part No. FLANGE pPPE P D NN S T AS568 SSF-150 | 15A | 325 | 246 i 22 : 16 | 7.2 46 | 182 | 54 | 405 | M8gyg

SWRFL-1SWW | 15A | 21.7 (222 | 13 26.75 | 20 | 20 | 34 | 18.2 | 37 | 54 | 40.5 . M8 4 | .211 SSF-200 . 20A . 420 325 . 23 . 19 . 83 . 55 . 238 . 71 . 50.8 M0j4q0s
SWRFL-20WW | 20A  27.2 :27.7 . 19| 3152 28 28 . 48 | 23.8 | 44 | 71  50.8 MO 4 214 SSF-250 | 25A | 484 © 389 | 33 24 © 90 65  27.8 | 81 | 572 M2qp5
SWRFL-25WW | 25A | 34.0 345 23 3945 34 . 34 54 278 47 | 81 | 57.2 MZi.. 219 SSF-320 | 32A | 548 445 © 38 | 27 © 98 . 78 318 94 . 667 M4jqss
SWRFL-32WW . 32A . 427 432 31 5062 38 . 38 . 60 . 31.8 | 50 . 94 | 66.7 M4 .. .22 SSF-400 . 40A | 643 | 516 . 43 30 . 121 | 94 | 365 112 | 79.4 M6 445
SWRFL-40WW | 40A  48.6 491 35 56.97 . 42 : 42 : 70 : 365 : 55 112 | 79.4 ‘M6gy75. 226 SSF-500  50A . 802 . 67.6 . 52 . 37 . 124 . 114 . 445 134 | 968 M2 4y

112 | SEKWANG HI-TECH 113



ERINAE!

SQUARE FLANGE-SOCKET WELD THREAD FLANGE 90°
SFSW STFL

4T L#

| N

r

JANE]
[LARETR

ROA-0.T bl
] =T
El Lt x

it
LIE L >/ YT

Ri.1-0.2 .
0.2 - PT R0.4-0.7
g—h | I "EF‘L‘ ] &,

T

E=

']‘E.u

A48T

o] NETE]

- RN | N

4,144

F
"

-
L
=
P
@
m

O-RING GROOVE DETAIL

3000PSI | 1.'.‘“H:IIIJ—I:I.:-Z
0. 8%

Part No. IN PIPE B B D (0] r E E1 L L1 L2 T O-RING ﬂ—‘

0 3 3 5 [ 2.4 #0an

63 40 22 1 3.5 Mo § G25 i

68 | 45 | 22 i 12 i 40 A1§ G30

80 53 28 14 | 40 g7 635 O-RING GROOVE DETAIL
% | 63 0 28 0 16 | 6.0 “its | edo

100 i 70 36 . 18 7.0 W G50

©112 ¢ 80 : 36 i 20 [ 7.0 —417.5 . G60

140 1 100 | 45 © 22 9.5 M2, ¢ G75

155 112 © 45 © 25 11.0 M22g3 = G85

SFSW-15 217 1 222 0 16 i 30 | 32
SFSW-20 | 272 : 27.7 . 20 35 . 38
SFSW-25 . 340 . 345 | 25 . 40 . 45
SFSW-32 = 427 | 432 . 315 @ 45 56
SFSW-40 . 486 : 491 375 i 55 : 63
SFSW-50 : 605 | 611 . 475 65 . 75
SFSW-65 . 763 771 . 60 - 80 @ 95
SFSW-80 | 891 : 90.0 . 71 : 90 : 108

(=2 IS RS NS DS RS RS IS |

6000PSI

Part No. INPIPE P B D o r E EB L L L T ORNG Part No. PTINPT B D 2 E = L L U | O

625 STFL-15 ¢ 12 : 16 : 30 32 | 54 . 36 . 40 11 m9 G25

G35 STFL-25 1 25 40 45 | e . 48 | 50 . 14 w2~ G35
G40 STFL-32 . 114 315 . 45 . 5 . 76 . 56 . 63 . 16 | 4135 G40
92 | 65 36 @ 18 G50 STFL40 112 35 55 e .2 65 11 18 wie . G50

100 © 73 36 20
128 © 92 . 45 | 22 G75 STFL-65 . 212 . e . 8 . 95 . 128 . 92 106 | 22 M20gx' gG75

140 103 . 45 | 25 11.0 M22/4%4. G85 STFL.8 = 3 . 71 . 90 108 140 . 103 . 118 25 M2gm 85

SFSW-150 | 21.7 | 222 16 | 30 @ 32
SFSW-200 | 27.2 | 27.7 | 20 | 35 . 38
SFSW-250 | 340 | 345 © 25 | 40 @ 45
SFSW-320 | 427 | 432 . 315 : 45 . 56
SFSW-400 . 486 . 491 . 375 . 55 . 63
SFSW-500 . 605 : 61.1 : 47.5 . 65 . 75
SFSW-650 . 763 . 771 . 60 . 80 : 95
SFSW-800 891 © 90.0 : 71 : 90 | 108

54 1 36 i 22 i 1
58 | 40 i 22 | 12
68 . 48 | 28 : 14
76 56 0 28 : 16

(=2 TS RS B3, S RS RS IS |

114 | SEKWANG HI-TECH 115



ERINLAE!

SQUARE & ELBOW FLANGE-THREAD TYPE
SFTL

SQUARE THREAD FLANGE-BSPT THREAD FLANGE-90°BSPT

E2

AT

ke RO.4-0.7 ;l
O ] - .
ap i it
ah }I _.___1-"*‘
| ot O
| 2 , g
== d 3] =
= > = — 1 Ek LY
| = RO1-0.2
0.2
' :
PT -
NPT L
L
O-RING GROOVE DETAIL
SQUARE THREAD FLANGE-BSPT
Part No. B D | I E E1 L T
FLANGE PIPE NPT AS568
SFTL-15T = 15A © 217 | 12 13 | 2675 @ 32 . 19 | 58 : 366 - M0 - . .21
SFTL-20T = 20A . 27.7 . 34 . 19 @ 3152 . 32 : 19 58 : 366 - . ¢11 1 .39
SFTL-25T = 25A . 345 i 1 = 25 | 3945 = 38 . 19 76 . 508 - M12 - . .219
SFTL-32T : 32A : 427 : 114 . 32 : 5062 : 38 : 22 : 76 : 508 : - . $135: .29
SFTL-40T | 40A | 486 @ 112 | 38 @ 5697 @ 45 | 24 | 102 : 69.8 @ - M16_— P -226
SFTL-50T . 50A : 605 : 2 : 51 6650 | 45 @ 30 @ 102 @ 69.8 . - .~ ¢17.5° _239
SFTL-65T | 65A | 763 | 212 | 63 | 8237 | 57 | 30 | 140 : 952 | - M2z -234
SFTL-80T = 8A : 8.1 @ 3 @ 73 95.07 : 57 : 34 : 140 : 952 : - i~ $24 : .23

THREAD FLANGE-90° BSPT
NORMAL  SIZE P

Part No. = 0 NPT B D I 1 E E1 L
SFTL-15TT @ 15A | 217 @ 12 i 13 | 2675 : 38 : 19 . 58 : 36.6 . 80
SFTL-20TT : 20A : 27.7 i 3/4 i 19 3152 ¢ 36 : 19 i 58 : 36.6 : 80
SFTL-25TT | 25A : 345 | 1 i 25 | 3945 | 51 | 255 . 76: 50.8 : 105
SFTL-32TT | 32A | 427 : 11/4 i 32 : 5062 : 51 | 255 : 76 : 50.8 : 105
SFTL-40TT @ 40A 486  11/2 i 38 : 5697 : 76 : 38 102 : 69.8 : 130
SFTL-50TT | 50A | 60.5 2 0 51 | 6650 : 76 : 38 102 0 69.8 : 130
SFTL-65TT @ 65A 763 @ 21/2 : 63 @ 8237 : 102 : 51 140 : 952 : 181
SFTL-80TT . 80A | 89.1 | 3 . 73 ;. 9507 ; 102 : 51 : 140 . 952 : 181

T O-RING
AS568

116 | SEKWANG HI-TECH

GEAR PUMP FLANGE
SBFG

L4
>
LA
LA - _J[__J--I__ D3
|
—_ — D1
DB L2
L1

LK D1 D3 L1 L2 LA S1
35 10L 8 30 23.0 39 19
35 12L 10 30 23.0 39 22
35 15L 12 30 23.0 39 27
35 16S 12 30 21.5 39 30

/— S1
Y
— |
!
— e D1
[
/1
-
o
>
Z
®
m
Screws . PN(bar)
(metr.) g A3C
M6 X 22 20 X 2.5 250
M6 X 22 20X 2.5 250
M6 X 22 20 X 2.5 250
M6 X 22 20 X 2.5 400

117



ERINAE!

N rnce

GEAR PUMP FLANGE 90° ELBOW
SBFW

LA

Screws ) PN(bar)

LK D1 D3 L1 L2 L3 Ls LA S1 DB O-rin

2 pieces(metr) 2 pieces(metr) - A3C
35 12L 0 10 : 37.5: 305 : 165 : 47 | 39 | 22 i 6.4 : M6X22 : M6X35 :20X25: 250
3 | 15L : 12 : 37 {300 : 165 : 46 : 39 . 27 | 6.4 . M6X22 | M6X35 :20X25: 250

35 0 16S | 12 { 38 {295 200 i 48 | 39 | 30 : 6.4 : M6X22 | M6X40 :26X25: 400

35 © 20S : 16 45 345 i 250 i 45 39 36 : 6.4 M6 X 22 M6X45 20X25: 400
....... b i e
40 . 18L : 15 | 38 305 : 225 : 47 . 42 . 32 . 64 . M6X22 . M6X22 :26X25: 160
40 | 22L 0 19 | 38 305 : 225 : 47.5: 42 | 36 : 6.4 . M6X22 | M6X22 :26X25: 160
40 | 28L 0 25 | 40 | 325  28.0 0 49 | 42 | 41 | 64 @ M6X20  M6X50 :26X25: 100
40 @ 35L 30 41 305 0 340 i 52 42 50 | 6.4 M6 X 22 M6X60 26X25: 100
40 © 208 | 19 38 | 275 0 225 | 50 42 36 : 6.4 M6 X 22 M6X45 26X2.5: 400
....... T S S DTt A G Sy T S ondi S SATICIRE S S
55 © 22L : 16 43 [ 355 @ 240 | 525 58 36 | 8.4 M8 X 25 M8X50 32X25 160
55 i 255 i 20 49 | 37.0 | 30.0 | 61 58 46 | 8.4 M8 X 25 M8X55 32X25: 400
55 : 35L : 30 49 385 @ 32.0 . 62 58 50 @ 8.4 M8 X 25 M8X60 32X25 100

118 | SEKWANG HI-TECH



